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Full Marks: 32 Time: Two Hours
The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
Group-A
Answer any four of the following questions: 2x4=8

What do you mean by scarcity in economics?

What is an indifference map?

Define price elasticity of demand.

What do you mean by producer’s surplus?

What is an Oligopoly market?

What do you mean by derived demand for labour and capital?
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Group-B
Answer any four of the following questions: 4x4=16

7. Discuss the factors determining the Supply of a Commaodity.

8. Why is a short run Average Cost (AC) curve U-shaped?

9. Discuss the concept of Diminishing Marginal Rate of Substitution.

10. What are the determinants of price elasticity of demand?

11. Write the properties of Isoquant.

12. Discuss the salient features of a monopoly market.

13. Discuss the concept of income effect with the help of indifference curve?
14. Discuss the concepts of VMP and MRP in the input market.



Group-C
Answer any one question. 8x1=8

15. Show that the value of price elasticity of demand on a linear demand curve varies from
zero to infinity.

16. With the help of a suitable diagram explain how a perfectly competitive firm attains
equilibrium in the short run.
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13. Discuss the concept of income effect with the help of indifference curve?
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